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BUSINES‘S ORGANIZATION AND
ENTREPRENEURSHIP DEVELOPMENT

Full Marks — 80

Time - Three hours

The figures in the margin indicate full marks
for the questions.
Answer either in English or in Assamese.

~ All questions are compulsory.

WC@ o FGORER |
Anéwer as directed : - 1x10=10
o s S ol s , =
i (a) According to Weber theory, mdustnes with
~ Matérial Index (above 1/1/below 1) tend to
be located near the source of raw material.

“(Write down the correct choice given within -
brackets).

GRS W SRR weels 51 (above 1/1/
below 1) k&2 SWlsPEE (EoNEE SR
NEETE] wweTs SREET  eEeel rell A
(Brackets fral wm Sexh! aife Sferexi))
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(b) Which_one of the factors- does not affect. :

~optimum size of a firm 7

AfSDIe @B SRy S ool ﬁm@‘
GERTCR! Sl 2o A I o S =2

.(i) Technical
(ii) Manageliial _
(iii) Political

) Bt

(c) Peter Senge is known for his work and

orgamzatlon)

(Write down the correct answer from opnon

prov1ded within brackets)

Peter Senge fCNI® (I Eﬁf@’ﬁﬁ

SIS AlCa ARES ( learning ol / v1rtu

zﬁ%’éﬁ)l (@ﬁ TG aﬁ@%\w‘)l
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\ ... to franchisee in ,
for royalty payments. (Fill i the o

9 'W@ﬁl(arﬁﬁéﬁéﬁq

Strategic Alliance is a form of multmatlonalv
eorporatlon (True / false) Write down the
correct option.

s el a@ﬂ% ﬁsma b zrq' el

(wa / @eﬁi) |

In mergers when two competltors comblne 1t .

8 called . a ...

_aﬁw%wmmm%mw '

Hmmm@mww
B EIR '

(i) Horizontal merger

HEAIGAIET G2 G [
(1) Vertical merger
FAN QIR »
(iii) Conglomerate ,.mergef :
AefifEe G
(iv) Acquisition
| gzt

[Turn.over




{ch year, Securities and Exchange Board
* (SEBI) came out with a framework
OF fetognition and supervision of small and
L enterpnses in Stock Exchanges of

_(g) Which one of these factors does not 1nﬂuenceﬂ‘
entrepreneurship L B

W@fﬁﬁr@m@ww&@f@fm;

(TR ?
* (i) Role models W Stock Exchange S G W ,
; ST el SEBlY =pu @i SemtEl Sorlaptea s
‘ il HFhod AT AN Blo FE?
(il) Security : Gt -
; fi@M@ (i) 2008 @ii) 2009
i) 2010+ i) 2000

(iii) Social norms and values Ly E | |
e, T o, SEPY - short answers to the following : 2x5=10

L (V) Government structure _— W 55 ol
el Al RSP ﬁiQﬁ

A(a) Mentlon the assumptlons of Webers Theory 18
of Location.

(h) Kaizen is @ ... techmque of Japan (F111 in |
' i b 1 RANE S e WWW‘WL_

: the blank). : \ » . , |
. Kaizen, SIFe @F ... P | (ﬁ'ﬁ e (b) Distinguish between mergers and acquisitions.
D “ aﬁm«wmtﬁmw et e <A

(¢) What are the limitations of MNC's ? w
zrwsﬁ%as ﬁm W‘a‘ﬁ & & Bl |

~ Who defined eritrepreneur as a. creativ
problem solver 7 : A

: ) Acheempeter _(ii) ‘McClelland
~ (iv) Leibenstein

' (d) What are the features of -Learmng i
Organisation ? e

W%Whm%%f
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; (-iii) Hagen
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(e) What is environmgnfal analysis ? Q
e T e B r
3 Writ(a’,_short nbles 6n auy five: 4 ot 45 L
(a) Sar'gént Florépce ‘Theory of Location
Sargent Florencex SR (Location) ‘31@,
(b) Optimum Firm |
; }(c) Qpality Cthrol
i fe
i '«.(d) Venlure, ﬁCapital .
i o e
! (e) Entrepreneurial,Creati\}ity
o AT

’ B

@W@W@ﬁﬁl
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*Define micro, small and medium enterprises as :
per latest government policy. Also elaborate on
the features of small enterpnse i 3+7*-10 T kit

Wmﬂ\wm ‘W@Um kﬁw |
15”3 ﬁ"l‘iﬁl ! 5["53_93

D‘is‘cuSS thc factors that affect industrial -

: plOdllCthlty

‘ What are the benefits of rationalization ?

(f) Entrepreneursh1p Development Programme.

How does franchising operate ? D1scuss about the
fious forms of franchistng. . 4+6=10

MEGea G I S A ? @mﬁ%@aﬁf—ﬁ |
RE ﬁrzfm wam Wl

Or/Q'SIQI?ﬁ

10 -
S SO srofalfie ?ﬁ? sl
TomEERIE SHCEl L
Or/<ieAl

Highlight its limitations. 6+4=10
Hfemad Eﬂ“l‘ﬂm‘{i s fe W RN EETIED
f%wn | ,

yibemiBop. . D0 ovef




6. Discuss the theories of ehtrepreneurship. 10
Sonfier Rfen sS@Eem. s =)
: Or/?ﬁﬂ?f

e What i8 (the' significance of entrépreneufship in
~ an economy ?. Discuss: in the Indian context.
=14
‘W mf-%’rﬁ-— @Wﬁ“ﬁ Sl ﬁw SIgeaS
; Wtﬂﬁ“‘ WW IR

7 Iy what Yarious ways the . government has
- encouraged - entrepreneurshlp dewelopmcnt in
i Indla = stcuss : - 10

E m%%ﬁﬁ@ﬂmmﬁmﬁ—xﬁ@m
e SR PIE0R 2 oA w11

Or/==m :
» Explain the present scenario of entrepreneurship

development in India. Suggest some ' steps {0
promote entrepreneurshxp in India. 6+4—1(l

WWW @tﬁﬁm ﬁmﬁa m wvﬁs‘ 151 =1l
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